## 10/

## **Government Tender Notice**

## Invitation of Tender Notice Nos.97, 98 & 100/Seri/Eng/Civil/PCR/NAD/2019-'20.

Sealed Tenders are invited by the Executive Engineer, Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2<sup>nd</sup> floor), Kolkata-13 for the following works in the district of Nadiafrom the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department / Zilla Parishad.

NIT	Name of the Work	Estimated Cost	Earnest Money	Place of Work.	Time of completi
97	Repairing of 2-Storied Grainage Building (G.F.) at Ranaghat Sericulture Complex, Nadia under PCR.	Rs.4,97,222.00 (Rupees Four Lakh Ninety Seven thousand Two hundred Twenty)only	Rs12,435.00 (Rupees Twelve Thousand Four Hundred Thirty Five) only.	Ranaghat Sericulture Complex, Nadia.	date of
98	Renovation of boundary wall and drainage Sistern of field at Shibnibas Sericulture Farm, Nadia under P.C.R. works.	Rs. 2,95,573.00 (Rupees Two lakhs ninety five thousand Five Hundred Seventy Three)only.	Rs. 7390.00 (Rupees Seven thousand three hundred Ninety) Only	Shibnibas Sericulture Farm, Nadia.	month from the da ue of Work Order.
100	Construction of Boundary Wall with partly vertical extension of boundary wall at Ranaghat Sericulture Farm, Nadia under P.C.R.	Rs.4,97,586.00 (Rupees Four lakh Ninety Seven Thousand Five Hundred Eighty Six)only.	Rs.12,440.00/- (Rupees Twelve Thousand Four Hundred Forty )only.	Ranaghat Sericulture Farm, Nadia.	1 (One) mo

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from

seriwbgov.org at free of

cost.

Last date & time of submission of Tender	28.01-2020 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	28.01.2020 upto 3-30 P.M. at Head Quarters, Kolkata.

Tender should be submitted / dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelop - I, should be superscribed as Technical Bid for N.I.T No.....SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value) EMD & etc. and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of the Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable.

Labour Cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal, 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site *seriwbgov.org*. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./ K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Acceptance of lowest Tender is not obligatory.

Notwithstanding anytime contained in this Notice Inviting Tender, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer, | Directorate of Sericulture, West Bengal. Price schedule for repairing of two storied grainage building (ground floor) at Ranaghat Sericulture complex, Ranaghat, Nadia under P.C.R.

Sl	Description of item	Quantity	Unit	Rate (Rs.)	Amount(Rs.)
1.	Stripping off worn out plaster and raking outjoints of walls, celings etc. upto any height and inany floor including removing rubbish within a lead of 75m as directed.	471.00	Sqm	19.00	8,949.00
2.	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/staging where necessary (ground floor). [Excluding cost of chipping over concrete surface]	141.00	Sqm	184.00	25,944.00
3.	With 1:4 cement mortar 20 mm. thick plasters.  With 4:1 cement mortar ,15 mm. thick plaster.	205.00	Sqm	159.00	32,595.00
	With 4:1 cement mortar, 13 mm. thick plaster.  With 4:1 cement mortar, 10 mm. thick plaster.	125.00	Sqm	128.00	16,000.00
4.	Neat cement punning about 1.5 mm. thick in wall,	73.37	Sqm	34.00	2,495.00
5.	dado, window, sills, floor, drain etc.	13.31	Sqiii	34.00	2,493.00
6.	Labour for taking out door and window frame including shutter for repair or replacement of different parts of the frame & refixing the same including mending good all damages complete. (Concrete and brick work for mending damage will be paid separately) Upto area 2.5 Sq.m	35.10	Sqm	110.00	3861.00
7.	Supplying, fitting and fixing fibre reinforced polymer (FRP)Composite door frame as per approved section with glass fibre reinforced plastic moulded skins and a special sandwich core, so as to impart monolithic composite structure as per approved technology of Department of Science and Technology (DST) to satisfy IS: 4020 door testing performance criteria.  i) 66mm x 90mm	28.80	Mtr.	497.00	14,314.00
8.	Supplying, fitting & fixing fibre reinforced polymer (FRP) Composite door shutters as per approved design with glass fibre reinforced plastic moulded skins and a special sandwich core, so as to impart monolithic composite structure as per approved technology of Department of Science and technology (DST) to satisfy IS:4020 door testing Performance criteria.  In ground floor.  i) 32 mm thick	13.60	Sqm	2763.00	37,577.00
9.	Shutters of 2/3rd panel and 1/3rd glazed of doors and windows as per design (each panel consisting of a single plank without joint and with ordinary glass of 7.4kg. Per sq.m./3mm thick) fitted with putty bed and teak wood beads and nails including fitting and fixing shutters in position but excluding the cost of glass, putty, teak bead, nails, hinges etc. and other fittings in ground floor.  I) 35mm thick shutters with 19mm thick panel. Shisu, Gamar, Champ, Badam, Bhola, Mogra, Hallak.	12.00	Sqm	3046.00	36,552.00
10.	Iron butt hinges of approved quality fitted and fixed with steel screws, with ISI mark. i) 100mm. X 58 mm. X 3.50mm.	40.00	Each	66.00	2,640.00

	- 1 1 C 1 mality fitted and fived				
11.	Iron socket bolt of approved quality fitted and fixed				1
*	complete. a) 225mm long x 10mm dia bolt.	32.00	Each	63.00	2,016.00
12.	75 mm. thick brick work with 1st class bricks in	11.00	Sqm	465.00	5,115.00
12.	cement mortar (1:4) in ground floor				2 2 4 2 0 0
13.	Supplying best Indian sheet glass panes set in putty	4.70	Sqm	477.00	2,242.00
	and fitted and fixed with nails and putty complete.				
	(In all floors for internal wall & up to 6m height for				
14.	external wall) 3mm thick.  White washing including cleaning and smoothening	950.00	Sqm	18.14	17,233.00
14.	surface Thoroughly) Two coats .	*	1		
15.	Artificial stone in floor, dado, staircase etc. with	208.00	SQm	322.00	66,976.00
	cement concrete (1:2:4) with stone chips, laid in				
	panels as directed with topping made with ordinary or				
	white cement (as necessary) and marble dust in				
	proportion (1:2) including smooth finishing and				
	rounding off corners and including application of				
	cement slurry before flooring works, using cement				
	@1.75 kg./sq.m. all complete including all materials				
	and labour.				
	35 mm. thick.				
16.	Priming one coat on timber, plastered surface with				
	synthetic oil bound primer of approved quality				
	including smoothening surfaces by sand papering etc.	155.00	Sqm.	38.00	5,890.00
17	Priming one coat onsteel or other metal surface with	133.00	Sqiii.	30.00	3,050.00
17.	synthetic oil bound primer of approved quality				=
	including smoothening surfaces by sand papering etc.				
		82.00	Sqm.	29.00	2,378.00
18	Painting with best quality synthetic enamel paint of				
	approved make and brand including smoothening surface by sand papering etc. including using of				
	approved putty etc. on the surface, if necessary:				
	(a) On timber or plastered surface :				
	With super gloss (hi-gloss) -			01.00	10.555.00
	Two coats (with any shade except white)	155.00	Sqm.	81.00	12,555.00
19.	(b) On steel or other metal surface:				
	With super gloss (hi-gloss) -	82.00	Sqm.	79.00	6,478.00
20.	Two coats (with any shade except white)  Applying interior grade Acrylic Primer of approved	02.00	- Sqiii.	1,3,00	
20.	quality and brand on plastered or concrete surface old				
	or new surface to receive decorative textured (matt				
	finish) or smooth finish acrylic exterior emulsion				
	paint including scraping and preparing the surface				
	thoroughly, complete as per manufacturer's specification and as per direction of the EIC.				
	Two coats.	585.00	Sqm.	45.10	26,384.00
21.		333.00	29		
21.	paint of approved quality, as per manufacturer's				
	specification and as per direction of EIC to be				
	applied over acrylic primer as required. The rate				
	includes cost of material, labour, scaffolding and all				
	incidental charges but excluding the cost of primer.				
	Premium 100% Acrylic Emulsion	585.00	Sqm	. 84.00	49,140.00
22.	. Wood work in door and window frame fitted and				
22.	fixed in position complete icluding a protective coat				
	of painting at the contact surface of the frame				
	excluding the cost of concrete, Iron Butt Hinges	0.170	C	. 87287.00	15,624.00
	and M. S. clamps. Sal: Siliguri.	0.179	Cum	. 0/20/.00	13,024.00

	and the second s	2			
23.	Supplying, fitting and fixing M.S. clamp for door and window frame made of flat bent bar, end bifurcated, with necessary screws etc. by cement concrete (1:2:4) as per direction.				
	40mm, X 6mm. 250mm. Length.	40.00	Each	25.00	1,000.00
24.	Supplying, fitting and fixing Peet' Valve fullway gun metal standard Pattern best qualityof approved Brand bearing I.S.I. marking with fittings (tested to 21 kg per sq. cm.)				
	25 mm.	02	Each	912.00	1,824.00
	40mm	02	Each	1,646.00	3,292.00
	50 mm	01	Each	2,362.00	2,362.00
25.	Chromium plated Bib Cock short body (Equivalent to Code No.511 & Model - Tropical / Sumthing Special of ESSCO or similar brand) 15 mm dia.	03	Each	539.00	1,617.00
26.	Chromium plated angular stop Cock (Equivalent to Code No.511 & Model - Tropical / Sumthing Special of ESSCO or similar brand) 15 mm dia.	03	Each	815.00	2,445.00
27.	Supplying, fitting and fixing G.I. pipes of TATA make with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, long screw, reducing socket, reducing tee, short piece etc. fitted withholder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centreline measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately)  (A) For underground Work i)50 mm dia. medium quality	*	Mtrs.	520.00	15,600.00
28.	Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75m	2.20	Cum	939.00	2066.00
29.	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor as per relevant IS codes.  Pakur Variety.		Cum	6020.00	16,856.00

TOTAL=Rs.4, 40,020.00

Add G.S.T.@ 12%(CGST 6% + SGST 6%) + = Rs. 52,802.00

Add labour welfare cess @1%

 $(+) = Rs. \quad 4,400.00$ 

Total= Rs. 4, 97,222.00

Executive Engineer
Directorate of Sericulture
West Bengal

3